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USS MODEL EXAM  2019-20

KSTU KONDOTTY SUB DISTRICT

PAPER - II

PART - A   ENGLISH
(ae-bmfw aoUnbw)

(Que : 1 to 15) Answer all Questions.

Read the story and answer the questions 1- 5

The true friendship seems to be getting rare in this world. This does not mean that all friendship  are

false.

But friendship is increasingly becoming an act of selfishness. Money attracts friends. The richer a

man is the more friends he will have. He has the power to purchase friends. Friendship ends when

money ceases to be the link between friends. But true friendship is of a different nature. It is lasting

and changed circumstances do not end it. Money has no place in it. A true friend is ready to make

sacrifices to help his friend.

1. The meaning of the word ‘rare’?

a) Uncommon b) Familiar c) Poular d) Well-known

2. If a man is a rich

a) He would have more friends b) He will have more friends

c) The more friends he will have d) The more friends he would have

3. True friendship

a) Depends on money b) Is an act of selfishness

c) Ends with changed circumstances d) Is everlasting

4. Choose the correct setence

a) True friendship is uncommon today b) All friendships are false

c) All friendship depends on money d) True friendship is everlasting

5. Choose the most suitable title to the paragraph

a) Friendship and money b) One friendship

c) Friendship and sacrifices d) False friendship

Pick out the most suitable words to fill in the blanks

6. He .................... two day’s rest.

a) took b) take c) taked d) taken

7. I am innocent, .............?

a) amn’t I    b) am I c) isn’t I d) aren’t I

8.  If you ......................... early we can go for a swim

a) reach b) reached c) will reach d) would reach

9. I bought a ................. of bananas from the market yesterday.

a) bevy b) group c) bunch d) chest

10. When my uncle ................ Paris he was detained at the airport.

a) called at b) turned down c) let off d) made out

11. The mother is trying ................ beat the boy ............... a stick.

a) for, with b) to, on c) to, with d) to, at

12. Find out the ‘synonym’ of the word underlined.

The situation was really malignant

a) peaceful b) satisfied c) confusing d) violent
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 PAPER - II

PART - B     BASIC SCIENCE

(Que: 16 -35) GsX-¶nepw 15 FÆ-Øn\v DØ-c-sa-gp-XpI.

16. hnØv apf-bv°m≥ Bh-iy-an-√mØ LSIw

a) kqcy-{]-Imiw b) hmbp c) Pew d) Xm]-\ne

17. kpXm-cy-amb Hcp •mkv \ap°v ImWm≥ Ign-bp-∂-Xn\v ImcWw

a) •mkv AXn¬ hogp∂ {]Im-isØ ]q¿W-ambpw {]Xn-]-Xn-∏n-°p-∂p.

b) •mkv AXn¬ hogp∂ {]Im-i-Øn¬ \n∂v sNdnb Hcwiw {]Xn-]-Xn-∏n-°p∂p

c) •mkv {]Im-isØ ]q¿W-ambpw BKn-cWw sNøp-∂p.

d) •mkn\v I\-ap-f-f-Xn-\m¬.

18. ssat{Im-kvtIm-∏n¬ ss…Un-te°v Bh-iy-amb {]Imiw e`y-am-°m≥ D]-tbm-Kn-°p-∂Xv

a) tIm¨tIhv se≥kv b) tIm¨shIvkv se≥kv

c) tIm¨tIhv and¿ d) tIm¨shIvkv and¿

19. Hcp BknUpw B¬°-enbpw XΩn¬ {]h¿Øn-®-t∏mƒ tkmUnbw t¢mssdUpw
Pe-hp-ap-≠m-bn. F¶n¬ {]h¿Øn® BknUv

a) kƒ^yq-cnIv BknUv b) sslt{Um-t¢m-dn°v BknUv

c) ss\{SnIv BknUv d) Ak-‰nIv BknUv

20. aÆns‚ AæX Ipd-°m≥ Irjn-bn-S-ß-fn¬ tN¿°p-∂Xv

a) bqdnb b) s]m´mjv c) ssPh-h-f-ßƒ d) IpΩmbw

21. a\p-jy-i-co-c-Ønse G‰hpw henb Dan-\o¿ {KŸn

a) k_vam-Ivkn-edn b) k_v enwKz¬ c) ]tcm-´nkvUv d) ]m≥{In-bmkv

22. Xmsg-s°m-Sp-Øn-cn-°p-∂-h-bn¬ icn-bmb {]kvXm-h-\-tbXv?

a) F√m teml-ßfpw sshZypX Nme-I-ß-fm-Wv.

b) sshZypX Nme-I-ß-sf√mw teml-ßƒ BWv.

c) F√m teml-ßfpw sshZypX Nme-I-ßƒ A√.

d) F√m teml-ß-fp-sSbpw sshZypX Nme-IX Xpey-amWv

23. tIc-f-Ønse G‰hpw henb Pe-ssh-ZypX ]≤Xn

a) ap√-s∏-cn-bm¿ b) sNdp-tXmWn c) CSp°n d) Ipf-amhv

24. t^mkn¬ C‘-\-ß-fn¬ s]Sm-ØXv

a) s]t{Sm-fnbw b) I¬°cn c) _tbm-Kymkv d) {]Ir-Xn-hm-XIw

25. Hcp hmXI C‘\w GXv?

a) _tbm-Uo-k¬ b) Ghn-tb-j≥ ^yqh¬ c) Ak-‰n-en≥ d) HmIvkn-P≥

13. Choose the correct sentence from those given below.

a) The Railway can have any sudden turns and it must rise steeply.

b) The Railway cannot have any sudden turns and it must never rise steeply.

c) The Railway must have sudden turns and rise steeply.

d) The Railway cannot have turns and it must rise steeply.

14. The prefix used for making the antonym of the word colour is ................

a) Mis. b) Un c) In d) Dis

15. Find the correct spelling ?

a) Ausipicis b) Ausipisious c) Auspicious d) Ausipecious
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26. Xmsg-s°m-Sp-Ø-h-bn¬ lcn-X-Krl hmXIw A√m-ØXv GXv?

a) Hmtkm¨ b) ss\{S-P≥ c) aossY≥ d) Pe-_mjv]w

27. P\-td-‰-dn¬ \S-°p∂ Du¿÷-am‰w GXv?
a) cmtkm¿÷w → sshZyp-tXm¿Pw      b) bm{¥n-tIm¿÷w → sshZyp-tXm¿Pw
c) sshZyp-tXm¿Pw → cmtkm¿÷w d) sshZyp-tXm¿Pw → bm{¥n-tIm¿÷w

28. Zqsc-bp≈ hkvXp-°sf hfsc ASpØpw hy‡-X-tbm-sSbpw ImWm≥ D]-tbm-Kn-°p∂ D]-I-c-W-
taXv?
a) sSen-{Km^v      b) sSen-kvtIm∏v c) s]cn-kvtIm∏v    d) Ft‚m-kvtIm∏v

29. Xz°n-eqsS izkn-°m≥ Ign-bp∂ Pohn
a) aÆnc b) a’yw c) ]m‰ d) a\p-jy≥

30. Nme-\w, kwh-l-\w, hnIn-cWw F∂o aq∂v am¿K-ß-fn-ep-ap-ff Xm]-t{]-jWw XS-
bp∂ D]-I-cWw
a) sX¿tam ^vfmkvIv          b) Imk-tdmƒ c) sFkp s]´n d) NqSm-dm-s∏´n

31. Nme-\sØ _m[n-°mØ LSIw

a) Xm]-hy-Xymkw b) kabw c) Xm]-Nm-e-IX d) hkvXp-hns‚ I\w

32. d{^n-P-td-‰-dn¬ `£-W-km-[-\-ßƒ tISp-h-cm-Xn-cn-°m≥ ImcWw
a) d{^n-P-td-‰-dn¬ hmbp-I-S-°m-ØXv sIm≠v
b) XWp-∏m-bXv sIm≠v
c) Xmgv∂  Xm]-\n-e-bn¬ kq£va-Po-hn-Iƒ°v {]h¿Øn-°m≥ Ign-bm-Ø-Xp-sIm≠v
d) hmXIw \nd-®-Xn-\m¬

33. ck-_m-tcm-ao-‰¿ I≠p-]n-Sn-®Xv

a) ]mkvI¬ b) Keo-entbm c) tSmdn-sk√n d) _¿tWmfn

34. `ua-Zn\w F∂mWv?

a) Pq¨ 5 b) G{]n¬ 22 c) Unkw-_¿ 5 d) G{]n¬ 21

35. a™-\ndw e`n-°p-∂-Xn\v `£y-h-kvXp-°-fn¬ tN¿°p∂ cmk-hkvXp GXv?

a) Fcn-t{Xm-kn≥ b) Sm¿{S-kn≥ c) Im¿tam-bvkn≥ d) C‚ntKm Im¿ssa≥

 PAPER - II

PART - C    SOCIAL  SCIENCE

(Que: 36 -55) GsX-¶nepw 15 FÆ-Øn\v DØ-c-sa-gp-XpI.

36. \thm-∞m-\-Øns‚ Ifn-sØm-´n¬ F∂v Adn-b-s∏-Sp∂ cmPyw GXv?

a) P¿Ω\n b) Cw•≠v c) C¥y d) C‰en

37. Xmsg-∏-d-bp-∂-h-bn¬ sX‰mb tPmUn GXv?

a) ]pI-bne ˛ t]m¿®p-Kokv b) ]∏mb ˛ Ad-_n-Iƒ

c) A®-Sn-b{¥w ˛ t]m¿®p-Kokv d) tImgn-t°mSv ˛ kmaq-Xncn

38. ]g»n kvamcIw ÿnXn sNøp-∂Xv Fhn-sS-bmWv?

a) am\-¥-hmSn b) tIm´bw c) tImgn-t°mSv d) IÆq¿

39. ‘thZ-ß-fn-te°v aS-ßpI’ CXv BcpsS hm°p-I-fmWv?

a) kzman hnth-Im-\-µ≥  b) kzman Zbm-\µ kc-kzXn  c) Kpcp-\m-\m°v  d) {io {io chn-i-¶¿

40. C¥y-bn¬ Bkq-{XW IΩo-j≥ \ne-hn¬ h∂ h¿jw?

a) 1947 b) 1948  c) 1950  d) 1952

41. `q]-S-Øn¬ ‘a™-\ndw’ F¥ns\-bmWv kqNn-∏n-°p-∂Xv?

a) tdmUp-Iƒ b) ]m¿∏n-S-ßƒ c) ac-ßƒ d) Irjn-bn-S-ßƒ
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42. temI-Ønse G‰hpw henb \Zn?

a) ss\¬ b) Ba-tkm¨ c) slmbmMvslm d) KwK

43. tIcf \thm-∞m-\-Øns‚ ]nXmhv BcmWv?

a) tUm. ]¬∏p b) kzman hnth-Im-\-µ≥ c) Ipam-c-\m-im≥  d) {io\m-cm-bW Kpcp

44.  Jnem-^Øv {]ÿm-\-Øns‚ C¥y-bnse h‡m-°ƒ Bsc√mw?

a) ju°-Øen b) jao¿ Aen c) Aen ktlm-Z-c-∑m¿ d) j°o¿ Aen

45. {Inan-\¬ tIkp-Iƒ ssIImcyw sNøp∂ G‰hpw Xmgv∂ tImSXn GXmWv?

a) kp{]owtImSXn b) Pn√m tImSXn     c) aPn-kvt{S‰v tImSXn   d) ap≥kn^vtIm-SXn

46. C¥y-bn¬ IS¬Øocw IqSp-X-ep≈ kwÿm\w GXmWv?

a) tIcfw b) KpP-dmØv c) Xan-gv\mSv d) tKmh

47. C¥y-bn¬ G‰hpw IqSp-X¬ I≠¬°m-Sp-Iƒ D≈ kwÿm\w GXv?

a) tIcfw b) tKmh c) ]›n-a-_w-Kmƒ d) {Xn]pc

48. tIcf \thm-∞m-\-hp-ambn _‘-s∏´ Hcp hy‡n-sb-°p-dn-®p≈ kqN-\-Iƒ ]cn-tim-[n-°p-I.

• shßm-∂q-cn¬ P\\w

• A[x-ÿn-X-cpsS D∂-a-\-Øn-\p-th≠n {]b-Xv\n-®p.

• s]mXp-h-gn-bn¬ hn√p-h-≠n-bn-eqsS bm{X sNbvXp.
BcmWo alm≥?

a) {io\m-cm-bW Kpcp b) N´-ºn-kzm-an-Iƒ c) sshIp-WvT-kzm-an-Iƒ d) Aø-¶mfn

49. Fgp-X-s∏-SmØ `c-W-L-S-\-bp≈ cmPyw.

a) Bkvt{X-enb b) {_ko¬ c) {_n´¨ d) C¥y

50. 2022-˛se ASpØ ^n^ temI-I∏v \S-°p-∂-sX-hn-sS-h®v?

a) bp.-F-kv.F b) saIvknt°m c) JØ¿ d) Im\U

51. C¥y-bn¬ G‰hpw IqSp-X¬ Zcn-{Z¿ D≈ kwÿm\w GXmWv?

a) _olm¿ b) DØ¿ {]tZiv

c) tIcfw d) lcn-bm\

52. H∂mw kzmX{¥y kacw \S∂ h¿jw GXmWv?

a) 1957     b) 1856      c) 1857      d) 1957

53. temI ab°v acp∂v hncp≤ Zn\w

a) Pq¨ 25 b) Pq¨ 26 c) Pqsse 25 d) Pqsse 26

54. kaq-l-Øns‚ ASn-ÿm\ LSIw GXmWv?

a) IpSpw_w       b) hmb-\-im-e-Iƒ c) hnZym-ebw       d) hy‡n

55. C¥y-bnse \Zn-I-fn¬ IS-en¬ ]Xn-°mØ \Zn GXmWv?

a) aWvtUmhn b) lq•n c) eqWn d) kcbq


